AYERS ROCK - Mathematical Investigation Sample Report

by D Ritchie

Aim:

- to find the perimeter of the base of Ayers Rock in kilometres.

- to find the area of the base Ayers Rock in square kilometres.

Method:

for the perimeter
· using the given map of Ayers Rock

· using a piece of string, sticky tape the string to the perimeter of the base of the rock until the string meets

· compare the length of the string against the scale on the map.

for the area

· using the given map trace the base of Ayers Rock onto centimetre dot paper.

· count the total number of square centimetres inside the

· tracing counting the whole and part squares.

· change the number of square centimetres on the map to square kilometres after calculating the conversion factor using the scale on the map.

Answer:

The Perimeter of Ayers Rock

Here is the map of Ayers Rock with the string around the base.
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I found the length of the string to be 442 millimetres.

Using the scale on the map, 46 mm represents 1 kilometres

So the perimeter of the rock = 442 / 46

                             = 9.609 kilometres

The Area of Ayers Rock

The following diagram is my tracing of the base of Ayers Rock using the centimetre dot paper.
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From this I counted the square centimetres


number of whole square centimetres        =  61


number of whole square cm made from parts =  13


total number of square centimetres        =  74

I can convert these square centimetres to square kilometres by drawing a square kilometre as given by the scale and then work out the number of square centimetres in this square kilometre.
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A = l x w

    = 4.6 x 4.6






    = 21.16 sq cm


so 21.16 sq cm = 1 sq km

So to convert the square centimetres to square kilometres I divide by 21.16

Area of Ayers Rock
= 74 / 21.16





= 3.497 sq km

I believe I could improve estimate of the area by tracing the base of Ayers Rock onto graph paper and accurately count the small square that make of the part square centimetres.

Problems I had and how I overcome them:

When finding the perimeter I first tried to use pins to keep the string in place but learnt from other people that sticky tape worked better.

When finding the area I had no trouble tracing and counting the square centimetres but when I got an answer of 74 square kilometres I realised something was wrong, this was way to large for the area of Ayers Rock.  The square kilometres had to converted into square kilometres.  I did not know how to do this so I asked my teacher.

When writing of this report I did not understand how to separate the method from answer, but overcame this problem when shown the sample report.
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